EAKE o IIZETHKE

S 7 ERE

TR XK E K E R A R R

g = IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 3 H i K
e ( H # ) mg/L LAF (R7.4.8) (R7. 5. 20)
1| 100 0 0
2 | KIBGE 53 =3 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 | ROEDLEYD 0. 05
38 |l A A 200 6.5 7.6
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0.30 Al 0.30 A
47 | p HIE 5.8 ~ 8.6 7.46 7.54
48 |k L LE 7R L LR L
49 [RA RERL RERL gL
50 |fa () 5.0 0.5 A 0.5 Alif
51 [HEE (E) 2.0 0.2 il 0.2 Aiiff
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) - 0 0
54 | KM (57K) - =3 =3
55 | RIGEHE (57K) - 2l 5
56 |5l (C) - 17.7 26. 4
57 |KiE(°C) — 14.0 19.0
58 |z 0.1 Lik 0.6 0.2
59 [HIE it i i




EAkE : FEkE

S 7 EE

TR XK B K E R A R R

g = IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 3 H i K
e ( H # ) mg/L LAF (R7.4.8) (R7. 5. 20)
1| 100 0 0
2 | KIBGE 53 =3 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 | ROEDLEYD 0. 05
38 |1 A 200 5.3 5.1
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0.30 0.42
47 | p HIE 5.8 ~ 8.6 7.52 7.36
48 |k L LE 7R L LR L
49 [RA RERL RERL gL
50 |fa () 5.0 0.5 A 0.5
51 [HEE (E) 2.0 0.2 il 0.2 Aiiff
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) -
54 | KM (57K) -
55 | RIERE (JFK) -
56 |5l (C) - 17.7 26. 4
57 |KiE(°C) — 12.0 19.0
58 |z 0.1 Lik 0.8 0.7
59 [HIE it i i




Lok #E : BRERKE

S 7 EE

TR XK B K E R A R R

g # IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 31 fii =
e ( H # ) mg/L LAF (R7.4.8) (R7. 5. 20)
1| 100 0 1
2 | KIBGE 53 =3 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 | ROEDLEYD 0. 05
38 |1 A 200 9.0 8.9
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0.30 Al 0.30 A
47 | p HIE 5.8 ~ 8.6 7.44 7. 46
48 |k L LE 7R L LR L
49 [RA RERL RERL gL
50 |fa () 5.0 0.5 A 0.5 Alif
51 [HEE (E) 2.0 0.2 il 0.2 Aiiff
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) -
54 | KM (57K) -
55 | RIERE (JFK) -
56 |5l (C) - 17.7 26. 4
57 |KiE(°C) — 13.0 23.0
58 |z 0.1 Lik 0.8 0.8
59 [HIE it i i




Lok E  ERERKE-RK

S 7 EE

TR XK B K E R A R R

i = H 4 FEHEAE (FK) ERATERS LK | EARTESS 2 KU | BAATESE 3OKIR [ kEH 1 KR KEH 2 KR AT KR i =
o ( M # ) mg/L AT
1| A 100
2 | KIBGE 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 [ A ROBEDAED 0. 05
38 |1 A 200
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2 A F A VR F A= 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0
47 | p HIE 5.8 ~ 8.6
48 [wk L
49 |R& RERL
50 |fa () 5.0
51 |WJE () 2.0
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) -
54 | KM (57K) -
55 | RIERE (JFK) -
56 |5l (C) -
57 |/KiRL(°C) -
58 |z 0.1 Lik
59 |HIE i




EAE : BEHKE

S 7 EE

TR XK B K E R A R R

g # IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 3 fii =
e ( H # ) mg/L LAF (R7.4.8) (R7. 5. 20)
1| 100 0 0
2 | KIBGE 53 =3 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 | ROEDLEYD 0. 05
38 |1 A 200 13.2 9.0
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0.30 Al 0.30 A
47 | p HIE 5.8 ~ 8.6 7.48 7. 46
48 |k L LE 7R L LR L
49 [RA RERL RERL gL
50 |fa () 5.0 0.5 A 0.5 Alif
51 [HEE (E) 2.0 0.2 il 0.2 Aiiff
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) -
54 | KM (57K) -
55 | RIERE (JFK) -
56 |5l (C) - 17.7 26. 4
57 |KiE(°C) — 13.0 20. 0
58 |z 0.1 Lik 0.7 0.2
59 [HIE it i i




EAE : BHERKEEK

S 7 EE

TR XK B K E R A R R

i = H E4 FEVER (H47K) BIAS LRIR | A5 2 KR 15 | WA 45 2 /KIR 2 5 i =

o ( M # ) mg/L AT
1| A 100
2 | KIBGE 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 [ A ROBEDAED 0. 05
38 |1 A 200
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2 A F A VR F A= 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0
47 | p HIE 5.8 ~ 8.6
48 [wk L
49 |R& RERL
50 |fa () 5.0
51 |WJE () 2.0
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) -
54 | KM (57K) -
55 | RIERE (JFK) -
56 |5l (C) -
57 |/KiRL(°C) -
58 |z 0.1 Lik
59 |HIE i




EKE : HRRKE

S 7 EE

TR XK B K E R A R R

g = IH % JEVERL (k) 4 A 5A 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 3 H i K
e ( H # ) mg/L LAF (R7.4.8) (R7. 5. 20)
1| 100 0 0
2 | KIBGE 53 =3 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 | ROEDLEYD 0. 05
38 |l A A 200 6.7 7.0
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0.30 Al 0.30 A
47 | p HIE 5.8 ~ 8.6 8. 11 8.10
48 |k L LE 7R L LR L
49 [RA RERL RERL gL
50 |fa () 5.0 0.5 A 0.5 Alif
51 [HEE (E) 2.0 0.2 il 0.2 Aiiff
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) -
54 | KM (57K) -
55 | RIERE (JFK) -
56 |5l (C) - 17.7 26. 4
57 |KiE(°C) — 13.0 17.0
58 |z 0.1 Lik 0.4 0.6
59 [HIE it i i




EAE : SHEBKE

S 7 EE

TR XK B K E R A R R

g # IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 3 fii =
e ( H # ) mg/L LAF (R7.4.8) (R7. 5. 20)
1| 100 0 0
2 | KIBGE 53 =3 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 | ROEDLEYD 0. 05
38 |1 A 200 7.4 8.1
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0.30 Al 0.30 A
47 | p HIE 5.8 ~ 8.6 8.00 7.93
48 |k L LE 7R L LR L
49 [RA RERL RERL gL
50 |fa () 5.0 0.5 A 0.5 Alif
51 [HEE (E) 2.0 0.2 il 0.2 Aiiff
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) -
54 | KM (57K) -
55 | RIERE (JFK) -
56 |5l (C) - 17.7 26. 4
57 |KiE(°C) — 15.0 19.0
58 |z 0.1 Lik 0.8 0.8
59 [HIE it i i




SR 7 BE FTMHROKEKERERBRER

E ok E O 2EEKE-EK

i = H E4 FEVER (H47K) Z 5 3 KR EZ:E RV i =
o ( M # ) mg/L AT
1| A 100
2 | KIBGE 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 [1,4-2A %4 0. 05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 [7rERLL 0. 09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 | ROEDLEYD 0. 05
38 |1 A 200
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0
47 | p Hfi 5.8 ~ 8.6
48 [wk L
49 |R& RERL
50 |fa () 5.0
51 |WJE () 2.0
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) -
54 | KM (57K) -
55 | RIERE (JFK) -
56 |5l (C) -
57 |/KiRL(°C) -
58 |z 0.1 Lik
59 |HIE i




EAE : WRHKE

S 7 EE

TR XK B K E R A R R

g = IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 3 H i K
e ( H # ) mg/L LAF (R7.4.8) (R7. 5. 20)
1| 100 0 0
2 | KIBGE 53 =3 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 | ROEDLEYD 0. 05
38 |l A A 200 6.1 5.9
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0. 47 0.79
47 | p HIE 5.8 ~ 8.6 7.45 7.42
48 |k L LE 7R L LR L
49 [RA RERL RERL gL
50 |fa () 5.0 0.6 1.0
51 [HEE (E) 2.0 0.2 il 0.2 Aiiff
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) -
54 | KM (57K) -
55 | RIERE (JFK) -
56 |5l (C) - 17.7 26. 4
57 |KiE(°C) — 14.0 19.0
58 |z 0.1 Lik 0.6 0.6
59 [HIE it i i




EAE : BZHEKE

S 7 EE

TR XK B K E R A R R

g # IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 31 fii =
e ( H # ) mg/L LAF (R7.4.8) (R7. 5. 20)
1| 100 0 1
2 | KIBGE 53 =3 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 | ROEDLEYD 0. 05
38 |l A A 200 5.8 5.9
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0. 44 0.71
47 | p HIE 5.8 ~ 8.6 6.95 6.90
48 |k L LE 7R L LR L
49 [RA RERL RERL gL
50 |fa () 5.0 0.8 1.2
51 [HEE (E) 2.0 0.2 il 0.2 Aiiff
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) -
54 | KM (57K) -
55 | RIERE (JFK) -
56 |5l (C) - 17.7 26. 4
57 |KiE(°C) — 11.0 17.0
58 |z 0.1 Lik 0.7 0.8
59 [HIE it i i




SR 7 BE FTMHROKEKERERBRER
EkE : BZHEKE-RK
i = H E4 FEVER (H47K) %N FE PR IR i =

o ( M # ) mg/L AT
1| A 100

2 | KIBGE 53

3 | RITLAROZONEY 0.003

4 KK OZE DA 0. 0005

5 [BL v ROZEOEY 0.01

6 gk OE DG 0.01

7 |EFEEOZEDOEY 0.01

8 |AfiZ v AW 0.05

9 |dififEREEE R 0. 04

10 [>T A A A v RO L T v 0.01

11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0

12 |7 v FEROZDOILEY) 0.8

13 | R URKOZDOILEY 1.0

14 |k SR 0. 002

15 [1,4-2A %4 0. 05

16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04

17 |[vrmmxzy 0. 02
18|77/ 0.01

19 |rVZrpFL> 0.01
20 | NP 0.01

21 |HESEmR 0.6

22 |7 v o R 0. 02

23 |7 oaivhs 0. 06

24 |07 o ok 0.03

ViR DA /=R = % 0.1
26 |5k 0.01

2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 [7rERLL 0. 09

31 [FAVAT AT E R 0.08

32 [Hish L O DG 1.0

33 [T =T AROZEOAEY 0.2

34 | DAY 0.3

35 |8 O DAY 1.0

36 [ FY U AROZEDOEY 200

37 | ROEDLEYD 0. 05

38 |1 A 200

RN Pl NS SN (T -3 300

40 (&SRR 500

41 |BaA A v SIS A 0.2

42 |V=FAIv 0. 00001

43 |2-AFNA VR F I =)L 0. 00001

44 A A S iEER] 0. 02

45 |7 = 2 =V 0. 005

46 | % (TOCO &) 3.0

47 | p Hfi 5.8 ~ 8.6
48 [wk L
49 |R& RERL
50 |fa () 5.0

51 |WJE () 2.0

52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) -
54 | KM (57K) -
55 | RIERE (JFK) -
56 |5l (C) -
57 |/KiRL(°C) -
58 |z 0.1 Lik
59 |HIE i




EAKE : SURBBRBEAKE

S 7 EE

TR XK B K E R A R R

g = IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 3H i K
e ( H # ) mg/L LAF (R7.4.8) (R7. 5. 20)
1| 100 0 0
2 | KIBGE 53 =3 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 | ROEDLEYD 0. 05
38 |1 A 200 4.0 4.0
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0.30 Al 0.30 A
47 | p HIE 5.8 ~ 8.6 6. 80 6.75
48 |k L LE 7R L LR L
49 [RA RERL RERL gL
50 |fa () 5.0 0.5 A 0.5 Alif
51 [HEE (E) 2.0 0.2 il 0.2 Aiiff
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) - 0 0
54 | KM (57K) - =3 =3
55 | RIGEHE (57K) - 2l 5
56 |5l (C) - 17.7 26. 4
57 |KiE(°C) — 12.0 18.0
58 |z 0.1 Lik 0.8 0.3
59 [HIE it i i




fsAkE : ELW

S 7 EE

TR XK B K E R A R R

g = IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 3 H i K
e ( H # ) mg/L LAF (R7.4.8) (R7. 5. 20)
1| 100 1 0
2 | KIBGE 53 =3 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 | ROEDLEYD 0. 05
38 |l A A 200 5.9 5.9
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0.30 A 0.71
47 | p HIE 5.8 ~ 8.6 6. 55 7.07
48 |k L LE 7R L LR L
49 [RA RERL RERL gL
50 |fa () 5.0 0.5 A 0.5 Alif
51 [HEE (E) 2.0 0.2 il 0.2 Aiiff
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) -
54 | KM (57K) -
55 | RIERE (JFK) -
56 |5l (C) - 17.7 19.0
57 |KiE(°C) — 14.0 0.2
58 |z 0.1 Lik 0.2 0.2
59 [HIE it i i




S 7 EE

TR XK B K E R A R R

i 5 AGE HE
g = IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 3 A i K
e ( H # ) mg/L LAF (R7.4.8) (R7. 5. 20)
1| 100 1 0
2 | KIBGE 53 =3 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 | ROEDLEYD 0. 05
38 |l A A 200 6.1 5.9
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0. 45 0.70
47 | p HIE 5.8 ~ 8.6 6. 87 6.76
48 |k L LE 7R L LR L
49 [RA RERL RERL gL
50 |fa () 5.0 1.2 1.1
51 [HEE (E) 2.0 0.2 il 0.2 Aiiff
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) -
54 | KM (57K) -
55 | RIERE (JFK) -
56 |5l (C) - 17.7 26. 4
57 |KiE(°C) — 14.0 21.0
58 |z 0.1 Lik 0.4 0.6
59 [HIE it i i




eAE : EUE

S 7 EE

TR XK B K E R A R R

g = IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 3 A i K
e ( H # ) mg/L LAF (R7.4.8) (R7. 5. 20)
1| 100 0 0
2 | KIBGE 53 =3 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 | ROEDLEYD 0. 05
38 |l A A 200 6.2 7.4
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0.38 0.48
47 | p HIE 5.8 ~ 8.6 6.94 7.32
48 |k L LE 7R L LR L
49 [RA RERL RERL gL
50 |fa () 5.0 0.7 0.9
51 [HEE (E) 2.0 0.2 il 0.2 Aiiff
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) -
54 | KM (57K) -
55 | RIERE (JFK) -
56 |5l (C) - 17.7 26. 4
57 |KiE(°C) — 14.0 19.0
58 |z 0.1 Lik 0.1 0.2
59 [HIE it i i




S 7 EE

TR XK B K E R A R R

i 5 AGE ¥H
g = IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 3 A i K
e ( H # ) mg/L LAF (R7.4.8) (R7. 5. 20)
1| 100 0 0
2 | KIBGE 53 =3 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 | ROEDLEYD 0. 05
38 |1 A 200 6.2 6.4
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0.30 0. 40
47 | p HIE 5.8 ~ 8.6 6. 80 6. 86
48 |k L LE 7R L LR L
49 [RA RERL RERL gL
50 |fa () 5.0 0.6 0.6
51 [HEE (E) 2.0 0.2 il 0.2 Aiiff
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) -
54 | KM (57K) -
55 | RIERE (JFK) -
56 |5l (C) - 17.7 26. 4
57 |KiE(°C) — 13.0 18.0
58 |z 0.1 Lik 0.2 0.4
59 [HIE it i i




S 7 EE

TR XK B K E R A R R

i 5 AGE B
g = IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 3 A i K
e ( H # ) mg/L LAF (R7.4.8) (R7. 5. 20)
1| 100 0 0
2 | KIBGE 53 =3 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 | ROEDLEYD 0. 05
38 |1 A 200 4.1 4.1
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0.30 Al 0.30 A
47 | p HIE 5.8 ~ 8.6 8. 11 8.10
48 |k L LE 7R L LR L
49 [RA RERL RERL gL
50 |fa () 5.0 0.5 A 0.5 Alif
51 [HRE () 2.0 0.2 AKii 0.2
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) - 0 2
54 | KM (57K) - K5 B
55 |KMERE (FAK) - B 5
56 |5l (C) - 17.7 26. 4
57 |KiE(°C) — 15.0 18.0
58 |z 0.1 Lik 0.2 0.3
59 [HIE it i i




S 7 EE

TR XK B K E R A R R

ZBkiE bR
g # IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 31 fii =
By ( i E ) mg/L. AR (R7. 5. 20)
1| A 100 0
2 | KIBGE 53 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0.04 0.004 A
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0 0.1
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3 0.01 A
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 [ A ROBEDAED 0. 05
38 |1 A 200 4.4
RN Pl NS SN (T -3 300 21
40 (&SRR 500 56
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0.41
47 | p HIE 5.8 ~ 8.6 7.58
48 |k L R L
49 [RA RERL R L
50 |fa () 5.0 1.1
51 [HEE (E) 2.0 0.2 Aiiff
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) -
54 | KM (57K) -
55 | RIERE (JFK) -
56 |5l (C) - 26. 4
57 |KiE(°C) — 19.0
58 |z 0.1 Lik 0.1
59 [HIE it i




S 7 EE

TR XK B K E R A R R

ZpkiE - 1R

g # IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 3 fii =
By ( i E ) mg/L. AR (R7. 5. 20)
1| A 100 0
2 | KIBGE 53 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0.04 0.004 A
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0 0.3
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3 0.01 A
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 [ A ROBEDAED 0. 05
38 |1 A 200 4.1
RN Pl NS SN (T -3 300 71
40 (&SRR 500 114
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0.30 A
47 | p HIE 5.8 ~ 8.6 8.13
48 |k L LR L
49 [RA RERL R L
50 |fa () 5.0 0.5 Aif
51 [HEE (E) 2.0 0.2 Aiiff
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) - 0
54 | KM (57K) - =3
55 |KMERE (FAK) - 3
56 |5l (C) - 26. 4
57 |KiE(°C) — 20.0
58 |z 0.1 Lik 0.1
59 [HIE it i




S 7 EE

TR XK B K E R A R R

ZBkiE : ME
g # IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 3 fii =
By ( i E ) mg/L. AR (R7. 5. 20)
1| A 100 0
2 | KIBGE 53 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0. 04
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 [ A ROBEDAED 0. 05
38 |1 A 200
RN Pl NS SN (T -3 300
40 (&SRR 500
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2 A F A VR F A= 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0
47 | p HIE 5.8 ~ 8.6
48 [wk L
49 |R& RERL
50 |fa () 5.0
51 |WJE () 2.0
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) - 0
54 | KM (57K) - =3
55 |KMERE (FAK) - 3
56 |5l (C) - 26. 4
57 |KiE(°C) — 21.0
58 |z 0.1 Lik 0.2
59 [HIE it i




S 7 EE

TR XK B K E R A R R

ZBIKkiE BN
g # IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 3 fii =
By ( i E ) mg/L. AR (R7. 5. 20)
1| A 100 0
2 | KIBGE 53 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0.04 0.004 A
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0 0.1 i
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3 0.01 A
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 [ A ROBEDAED 0. 05
38 |1 A 200 4.3
RN Pl NS SN (T -3 300 7
40 (&SRR 500 60
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0.30 A
47 | p HIE 5.8 ~ 8.6 6. 68
48 |k L LR L
49 [RA RERL R L
50 |fa () 5.0 0.5 Aif
51 [HEE (E) 2.0 0.2 Aiiff
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) - 0
54 | KM (57K) - B
55 | RIGEHE (57K) - 5
56 |5l (C) - 26. 4
57 |KiE(°C) — 20.0
58 |z 0.1 Lik 0.5
59 [HIE it i




S 7 EE

TR XK B K E R A R R

ZBkiE : AR
g # IH % JEVERL (k) 4 A 5H 6 H 7H 8 H 9 A 10H 11H 12H 1A 2 H 31 fii =
By ( i E ) mg/L. AR (R7. 5. 20)
1| A 100 0
2 | KIBGE 53 53
3 | RITLAROZONEY 0.003
4 KK OZE DA 0. 0005
5 [BL v ROZEOEY 0.01
6 gk OE DG 0.01
7 |EFEEOZEDOEY 0.01
8 |AfiZ v AW 0.05
9 |dififEREEE R 0.04 0.004 A
10 [>T A A A v RO L T v 0.01
11 |RHREEREEE 32 K OV AN AR B 25 3R 10.0 0.1 i
12 |7 v FEROZDOILEY) 0.8
13 | R URKOZDOILEY 1.0
14 |k SR 0. 002
15 |1, 4-2F %4> 0.05
16 [V A, FTrAR-,2-Y 7 muF Ly 0. 04
17 |[vrmmxzy 0. 02
18|77/ 0.01
19 |rVZrpFL> 0.01
20 | NP 0.01
21 |HESEmR 0.6
22 |7 v o R 0. 02
23 |7 oaivhs 0. 06
24 |07 o ok 0.03
ViR DA /=R = % 0.1
26 |5k 0.01
2T MR U e A& 0.1
28 | bV 7 v u kg 0.03
29 |7mEY /R0 AKX 0.03
30 |7 mEk L 0.09
31 [FAVAT AT E R 0.08
32 [Hish L O DG 1.0
33 [T =T AROZEOAEY 0.2
34 | DAY 0.3 0. 02
35 |8 O DAY 1.0
36 [ FY U AROZEDOEY 200
37 [ A ROBEDAED 0. 05
38 |1 A 200 4.4
RN Pl NS SN (T -3 300 15
40 (&SRR 500 60
41 |BaA A v SIS A 0.2
42 |V=FAIv 0. 00001
43 |2-AFNA VR F I =)L 0. 00001
44 A A S iEER] 0. 02
45 |7 = 2 =V 0. 005
46 | % (TOCO &) 3.0 0. 64
47 | p HIE 5.8 ~ 8.6 7.26
48 |k L LR L
49 [RA RERL R L
50 |fa () 5.0 2.5
51 [HEE (E) 2.0 0.2 Aiiff
52 |7 e =T E%EE (FK) -
53 AU (K — f8/100mL) -
54 | KM (57K) -
55 | RIERE (JFK) -
56 |5l (C) - 26. 4
57 |KiE(°C) — 18.0
58 |z 0.1 Lik 0.1
59 [HIE it i




